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QUESTION 1

The Alpha level of a test (level of significance) represents the yardstick against which P- values are measured and the
Null Hypothesis is rejected if the P-value is which of these?

A. Less than the Alpha level.

B. Greater than the Alpha level.

C. Greater than the Beta and Alpha level.
D. Less than one minus Alpha.

E. Less than the power of one minus Beta.

Correct Answer: A

QUESTION 2

When two Inputs have an impact on the Output together yet seem to have no or little impact on their own this is called
a/an

A. Interaction
B. Oddity

C. Coincidence
D. Impossibility

Correct Answer: A

QUESTION 3

The is important because it provides an estimate of the probability of an event occurring depending on
the Standard Deviation from the Mean.

A. Shewnhart Principle
B. Pareto Rule

C. Mean/Mode Spread
D. Empirical Rule

Correct Answer: D

QUESTION 4
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A Belt gathered the following defect data for a shoe production line and wanted to assembile it into a Pareto Chart. The
correct order from left to right in the chart would be: Data: Cutting38 Formingl7 Stitching56 Sealing42

A. Forming, Sealing, Cutting, Stitching
B. Sealing, Stitching, Forming, Cutting
C. Stitching, Sealing, Cutting, Forming
D. Forming, Cutting, Sealing, Stitching

Correct Answer: C

QUESTION 5

What is the Cycle Time, in minutes, for a process having a Throughput of 360 units per hour?
A.0.167

B. 0.333

C. 0.667

D. 1.333

Correct Answer: A
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